Practice 5-3 Name

Use the functions f(x)=2x and g(x)=x’+1 to find the value of each expression.

L f)+g@ 2. g3)+f4)

3. f(5)+2g(D) 4. f(g3)

5. Model the function y=x?-6x+5 with a table of
values and graph for the domain: 0<x<6

¥\
Domain (x) y=x"—6x+5 Range (y)
-
v
Write the set of range values for the given domain values
Draw a sketch of the graph for each of the following functions.
Linear Quadratic Exponential Absolute Value
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For each table, state the domain and range of the relation represented. Is the relation a

function? Explain.

Table 1

1 -3
6 -2
9 -1
1 3

Given the table, find:

x f(x)
0 1
1 3
2 S
3 7
4 9

Table 2
x|y
—4 | -4
1] -4
0| —4
3| -4

The graph of y = fix) is shown below. Which point could be used to find f{0).
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Practice 5-3 Name

Use the functions /(x)=2x and g(x)=x"+1 to find the value of each expression.
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i = 32, |

25+ 2+(1%+1)
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5. Madel th€ function y =x" —6x+5 with a table of

values and graph for the domain: 0<x<6
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Domain (x) y=x —6x+5 Range (y)
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Write the set of range values for the given domain values Be l‘wc-c_n - L‘ acn Col S
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Draw a sketch of the graph for each of the following functions.
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For each table, state the domain and range of the relation represented. Is the relation a
function? Explain.

Table 1 Table 2
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Given the table, find:

— (-4 £(x)=13
0 1 2(_._{)+| 2)(_1'“:'3 |
1 3 - | e p ~
2 5 =1 2x = ',2
3 7 = 2
4 9 X =

C(x) = 2x +1

The graph of y = f{x) is shown below. Which point could be used to find f{0).
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